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HX 40,419 86,127 41,091 45,036
RIRET1T 6 15 9 6
RIRET2T 27 58 28 30
AIEET3T 182 591 285 306
RIRET4T 411 976 485 491
B 626 1,640 807 833
REH 2,745 6,163 2,872 3,201
L&A 4,346 9,394 4,369 5,025
5E 2,651 5,844 2,823 3,021
B AN 1,321 2,849 1,335 1,514
BERT 1,396 1,946 945 1,001
BER2T 878 1,533 751 782
BERST 733 1,749 851 898
B 3,007 5,228 2,547 2,681
BEXRE 280 640 308 332
= 2,190 4,843 2,306 2,537
hERE 645 1,432 661 771
aE 2,449 4,998 2,419 2,579
25 L ET 2,325 5,025 2,405 2,620
B &AL BT 76 151 63 88
HEFILET1T 561 1,204 561 643
HEFILET2T 612 1,273 607 666
HEZFILAT3T 678 1,516 743 773
g 1,927 4,144 1,974 2,170
B & it B Fr ET 683 1,528 737 791
BHEREBET1T 579 1,166 578 588
BHERERET2T 766 1,719 830 889
BHERERETST 805 1,601 724 877
BHERERET4T 508 922 432 490
HEKERETST 827 1,653 792 861
HEERET6T 884 1,874 911 963
BHERERET7T 895 1,847 915 932
HERERETST 72 208 102 106
£t| 5336 10,990 5,284 5,706
HEF R FET 2,007 4,129 2,019 2,110
S|EFET1T 636 1,583 789 794
S|EFET2T 779 1,752 821 931
S|EFET3 T 741 1,366 631 735
g 2,156 4,701 2,241 2,460
ERE1T 581 1,308 624 684
EIRET2T 384 1,030 508 522
EREIST 519 1,316 641 675
EIRETAT 695 1,448 646 802
EIZEIST 522 1,122 561 561
g 2,701 6,224 2,980 3,244
M EFHE 2,915 6,163 2,913 3,250
J\THET1T 35 37 17 20
J\THET2T 24 51 27 24
J\THEI3T 50 104 47 57
B 109 192 91 101
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